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General Instructions :

Preparatory Course in General Mathematics (Revised) (OMT-101) Questions 1 - 50

(i) All questions are compulsory, each of which carries one mark.

(i) Each question has four alternatives, one of which is correct. Write the Sl. No. of your
correct alternative/answer below the corresponding question number in the answer
sheet and then mark the rectangle for the same number in that column. If you find that

none of the given alternatives is correct then write 0 and mark in column 0.

(iii) Do not waste time in reading the whole question paper. Go on solving questions one by
one. You may come back to the left out questions, if you have time at the end.

(iv) No calculators are allowed.
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3.

The HCF x LCM of two numbers 50 and 20 is
1 10 2 100
(3) 1000 @ 50

If p, q are two prime numbers, then LCM (p, q) is
1 2 p
3) q 4) pq

If x=23x3x52 y=22x33 thenxyis
(1) 2% x 34 x 52
2) 28x53x 32
3) 23x3%x52
4) 25 x 83 x 52

If (3x + 2)(2x - 5) = ax? + kx — 10, then the value of k is
1 -11 @2 8
@ 9 | 4) 10

If the circumference of a circle is doubled, then ratio of the areas of smaller to bigger
circle is

1 1:2 2 2:1
@ 1:4 4 1:=n

If n - 5 is an even integer, then the next consecutive even integer is
1) n-7 (2) n-3
3 n-4 4 n+2

Which of the following is not an irrational number ?
1) 5-43

2 J2+45

@) 4+42

4) 6+49
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8 4 +2-i-3+5>‘<5 is equal to
(1 20 2 o8
3 b5 4 15

9. The decimal form of % is

(1) 0323 (2) 0-32
(3) 032 4) 029

10. The number g is equivalent to

108 : 150
1) — 2 —
W 133 , @ 175

84 -T2
3) — 4) £
@ 112 @ 91

11. First three terms of an AP. are 2x-1, x+1 and x + 3. The value of x is |
1 -2 @2 o
3 2 4) 4

12. A letter is chosen at random from the letters of the English alphabet. Find the
probability that it is a letter of the word “CHILD”.

1 1
1 % (2) 5

5 , 20
3) % | 4) %

18. The measure which takes into account all the data is
(1) mean (2) median

(3) mode : (4) range

14. 1If 45 is 20% of a number, then 4% of the same number is
1) 8 2 9
3 15 4 16

OMT-101 6



1. < Gl 50 3 20 1 HCF x LCM 2

(1 10 (2) 100
(3) 1000 (4) 50

2. AR p, q A AW G&IW &, @ LCM (p, 9) &
1 1 2) p
3 q 4) paq

3. Qﬁx=23x3x52,y=22x33,aw%
1 28x3*x52
@) 28x5%x32
(3) 23x38%x52
4) 25x8%x52

4. 3R (8x+2)(2x—5) = ax? + kx— 10, A k T 4 2

1 -11 (2) 8
3 9 (4) 10

5. af fedt gu B Ry F g R R wig, @ SR o 73 99 F Fwal H FIIE
1 1:2 2 2:1
3) 1:4 4 1:=n

6. 3R n-5 T uW QIiH B, A TN HANE €9 YOI &
1 n-7 (2 n-3
(3 n-4 49 n+2

7. T q S st den 78 R 2
(1) 5-43
@2 J2+45
(3) 4+ 2
4 6+49
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15.

16.

17.

18.

19.

20.

21.

The simple interest on ¥ 500 at 10% p.a. for two years is
(1) <550 (2) <250
(3 T 100 (4) T 150

In exponential notation 9\/ B3/7)3 is

27 1/3

3" 3
o e

7 1/3 3 1/2
@ () @y
Degree of a constant term is
1 o (2) 1
3 3 (4) Not defined

Five times a number plus 5 is equal to seven times the number minus 9. The number
is

(1 85 (2) 25
(3 49 4 7

If marked price of a pen-drive is T 600 and selling price is T 510, then the discount
percent is

(1) 10% (2) 25%

3 15% 4 9%

Let /, m and p be three lines in a plane such that 7 / m and p intersects I. Then
1) p/m
(2) pintersects m

(8) pis perpendicular to m

. (4) None of the above

The quadrilateral having only one pair of parallel opposite sides is
(1) parallelogram Q (2) rhombus
(3) trapezium (4) kite
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8 4 +2+3+5x5 e B

(1) 20 (2 08
@ 5 4) 15
29

. = &Y

% TS €9 &
(1) 0323 (2) 032
(3) 0-32 (4) 029

10. zi@errg-gw%

108 150
1) — 2) —
D 133 @ 175

84 72
3) — 4) =
® 112 @ 91

11. T&F g9 ¢t & Y9 9 9 9x—1, x+1 M x+3 &1 xHAAR
1 -2 @ 0o
3) 2 (4) 4

12,  irsh qofEren % ekl @ TH e Aglens I forn S @ | siRreran wra hifvre T a8
HER “CHILD” 715 % g A 8§ T 7 |

1

26

5

26

(1) (2)

3 4)

ARl

13. TG S GR AfHet i GAIRd BT B, '
(1) ¥ (2) e
(8) wEAH (4) qfE

14. f2 et T &1 20% 45 %, @ 3 @@ & 4% 3

1 8 2 9
3) 15 ' 4) 16
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22.

23,

24.

25.

26.

217.

28.

The area of a triangle whose sides are 3 cm, 4 cm and 5 em is

(1) 7 cm? (2) 6cm?
3) V12 em? (4) V8 cm?

What is the degree measurement of the angle between the hands of a clock at
3 o’clock ?

1). 60° | (2) 180°
(3) 360° @ 90°

The diameter of a circle A is double the diameter of another circle B. Then area of the
circle A is of the circle B.

(1) 2times (2) 4 times
(3) 16 times (4) 20 times

Mean of first 5 natural numbers is
1 5 ‘ ' 2 2
3 3 ‘ @ 0

x (2%2 - 3y)+y (9x + 4y2) is equal to
(1 2x3-6xy + 45°

2) 2x°+6xy +4y°

(3) 2x°+6xy-4y°
@ 2x&x%+ y) + 4y (x —y2)

Angles of the equilateral triangle are
(1) 30°, 60°, 90°
(2) 60°, 60°, 60°
(3) 30°, 30°, 120°

(4) 90°, 50°, 40°

The sum of first 5 terms of the G.P. 2, %, g, .. 18
322 422
1 —_— : 2 —_—
(1D 84 2) 31
443 , 451

3 4

281 236
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15.

16‘

17.

18.

19.

20.

21.

F 500 W 10% ¥ T | Q) 98 & fI¢ aramy < 8
(1) T 550 , (2) T 250
(3) T 100 (4) T 150

i Gha § 96/73 B

3 27 3 1/3
o (3 @ (3)

7 1/3 3 1/2
3) (g) | | (4) (7]
TSR Y< 1 914 &
1 o : @2 1
3 3 (4) iy =&

forelt W & 5T A 5SS, I TEA H 7T H V9 UEW F TR B | 9% HEA 8
1 35 2 25
3 49 @ 7

I freft A9-grga w1 3ifsd Te T 600 B 3 fosht g = 510 B, @ wiowa ge @
1 10% @) 25%
@) 15% E @) 9%

A A L, maR pfFrfi araa A @l @ TR EfF I/ maR p, /R Fecdt 3 | @

1) p/m
(2) p, mP FEH B

3) p,m‘T{m%

(9 U ° q HIg T

g ol Faet T TuR G YA 1 I gl 8, HEAT! 8
(1) SRR gy 2) wuEgHw

(3) UHEE TgHS (4) ga
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29.

30.

31.

32.

33.

34.

35.

If ,C7=,C5, then ,C, is

1) 12 (2 11
3 1 4) 0
8!5_56! is equal to

(1) &t (2) 6!
3) 4! @4 T

A right-angled triangle has
(1) Three acute angles
(2) Two acute angles

(3) Only one acute angle

(4) Only one obtuse angle

The letter A has

(1) rotational symmetry

(2) line symmetry

(3) Dboth rotational and line symmetry
(4) nosymmetry '

If E; and E; are two events such that P(E,) = 0-5, P(E; U Eg) = 0-7, P(E N Eg) = 0-1,
then P(E,) is

3 1
1) - 2) =
(1) 5 (2) 3
2 3
3) = 4) =
3 3 4) 10
The abscissa of any point on y-axis is
1) 1 2 o
3 -1 (4) any number

The coefficient of x° in the expansion of (x — 13 is
1) 3 @2 1
3 -3 4 -1
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22.

23.

24.

25.

26.

27.

28.

3 &Y, 4 3l ot 5 el yeneAl At By 1 S @

n 7af? @ 692

(3 12 o2 (4 /8 qfi?

3 o % T Ul i gl & o= F B0 H AW AW FAR 2
(1) 60° (2) 180°

(3) 360° 4 90°

I A oITE G I B AW K QT 2 | 96 g9 A 1 8% 99 B % &bl I
2

1) 27 @) 4T
(3) 167 (4) 207
WO 5 Wi HEAT3Tl 1 HTEA 3

1 5 (2) 2

3 3 4

x(2x2—3y)+y(9x+4y2) TR 8
(1) 2x°-6xy+4y3

2 2x+6xy+4y°

(3) 2+ 6xy-4y°

@) 2x&Z+y) +4yx-y)

TreTg By & o §
(1) 30°, 60°, 90°
(2) 60°, 60°, 60°
(3) 30°, 30°, 120°
4 90°, 50°, 40°

TR 3 2, g 8 . ¥ yum 5 9w dea 2

9
322 : 422
1) — 2) %2
0y 1 (2) 31
443 451
3) — 4) ==
® 281 @ 236
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36.

37.

38.

39.

40.

- 41.

@n'/3 + 2

'27__1/3 is equalto
1 3 (2) 8
3 15 @ 1/3

Which of the following quadrilaterals, does not have both pairs of parallel opposite
sides ? ‘

(1) Rectangle

(2) Parallelogram
(3) Rhombus

(4) Trapezium

The number of edges in a tetrahedron is
1) 6 ) (2) 4
3 5 4) 8

40,000 cm? is equal to
(1) 400 m?

(2) 40 m?

(3) 4m?

(4) 4000 m?

The area of a rhombus is 1470 cm?. If one of its diagonals is 35 cm, then the other one
is

(1) 40cm
(2) 42cm
(3) 45cm
4) 38cm

Two triangles are not congruént when

(1) all corresponding angles are equal

(2) two corresponding sides and the included angle are equal
(3) all corresponding sides are equal '

(4) two corresponding angles and one corresponding side are equal
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29. qﬁ nC7 = nC5, ?ﬁ ncl %

(D
(3)

8!-6!
55

30.

(1D
(3)

12
1

T 8

5!
4!

(2)
(4)

(2)
4)

11

6!
7!

31. "R Bye A g §

(1) & =E S

(2) Q= B

(3) FaA TH = B

(@) HaA T Al H
32. IMWWATR

(1) ool wwfHf

(2) @ it

@) ol 3 Yar anfafy Al

@) s Tafufa 7

33. It @ wead E, it E, 3@ YR & 6 P(E)) = 0-5, P(E; U Ey) = 0:7, P(E; N Ey) = 0-1,
@ P(Ey 2

3 1

® 5 @ 3

2 3

@ 3 @
34, y-3ta W e famg o1 yyoma R

n 1 2 o0

3 -1 (4) I3 TN
35. x-1FTERHA x* H NS ?

(1 3 2) 1

(3 -3 @ -1
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36.

37.

38.

39.

40.

41.

(27)1/3 +2

27—1/3 %
(1 3 2 8
3) 15 4 /3

P & & A T 3w e AT g ww T A E 2
(1) 33A™d

(2) TR IgHS

(3) wwEgyd

@) uHe S
SgeHEh # YA hH HEA BN &

1) 6 , 2) 4
3 5 4 8

40,000 72 SR 3
(1) 400 %t.2

(2 40%.2

(3 4.2

4) 4000 .2

TH THEGHS BT AThA 1470 T2 B | AR sue e fomwel 35 @t B, A guw fol @

(1) 409

(2) 429w
(8) 453
(4) 3ss@ft

Q By watrem 72 & 9=
(1) Gt T v SR §

(2) Q ETa ged I GG SFaa BT SR g

(3) uft TTa oY sRreR
(4) T T HIO N TH T YT TR G
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42. The angles of a triangle are 5 (x—1), 3(2x—5) and 9x. Then the triangle is

1
(2)
3
4)

Scalene
Isosceles
Right isosceles
Right scalene

43. Which of the following is not greater than _T3 ?

(D

(2)

(3)

(4)

-2

0

44, If P(x)=2x2 +kx + v2 and P(1) =0, thenkis

(D
(2)
(3
4)

—22
—2-42
2+ 2
342

45. If 35% of a number is 70, then the number is

(D
(2)
(3)
(4)

100
110
200
150

46. The mean of 10, 12, 16, 20, p and 26 is 17. The value of p is

¢y
(2)
3)
4)

OMT-101
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42. FHHAEFFU5(x-1),3@2x-5) 3 ox ¥ | A Py ?
(1) frewemg
(2) wufgamg
(3) wHhI THIgETE
(4) "W fawmeTg

43. ﬁnﬁﬁaﬁwﬁ‘%”ﬁi@%’f%?
a =2
2 —

@ —

4) 0

4. I Px)=2x%+kx+ V2 M P)=0 &, k B
1 -242
2 -2-42
3 2++2
4 3V2

45. 3fe fpxft g o 35 wfawa 70 8, o o8 sEw
1) 100
(2) 110
3 200
4) 150

46. 10,12,16,20,p 3N 26 H WeT 178 | pHI 9H
® 17
@2 18
3) 20
@ 105
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47. If P(E) is the probability of an event, then
1 PE)>1
(2) PE)<O
3 -1<PE)<1
4) 0<PE)<1

48. For a frequency distribution an observation having maximum frequency is called as
(1) mean
(2) median
(3) mode
(4) range

49. The 34 term of the sequence 7, 13, 19, ... is
(1) 200
(2) 205
3 207
(4) 203

50. In asquare ABCD, AB =2x + 3, BC = 3x— 5. Then the value of x is
1) 4
(2 5
3) 6
4) 8
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47.

49.

50.

gfe P(E) fordt wear it wiRepar &, @t

1 PE)>1

(2) PE)<0

@ -1<PE)<1

4) 0<PE)<1

FRERAT S o Faifies TRaar v Y80 Heam §
1) wex

() wfemm

(3) WEWH
(4) ufER

A 7, 18, 19, ... 1 3441 12 B
1) 200
2) 205
3) 207
4) 203

T 911 ABCD#, AB=2x +3,BC=3x—5. d x % 4H 8
)
(2)
3
4)

W O Ot
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SPACE FOR ROUGH WORK
T T & forg g
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